So Fav

Exponentiale

E‘ﬂj\d:fi’)x A

- ‘ >

s horizonted o\s.'.\dmpbi-e,
] Pom = 1K

_ p

in %@m@/m\ tj: 61\')

Range = (0,00)

2 Find  eqn ng axp 9oty Mvough (-—’5,7‘)) and (2,5)

: x
Let :ab
| -3
("’5, '\3’ é’: = 0\\) - e
o o
(2 i 5) 5 = ab ""'—C_l')
(=3
From @ QA = gy
sub 11 (D o §> -3
2 (b"" b
L e = >
\ob = YO
; _ 1}5
b back n 1A= (go* T o



The Nadural Expome,mh‘a\

~“The base on an axponential can be any Nuwbey

bt WWe most  ommoen  che WA mats s Base €.

e> T8~ -

- e ¢ an  matonal number  (Just Lke “ff‘)

cwe UWe o In maths  becauwe o %1\{@5 us  hice
vesus  in aleodus |

- us de}meo\ as  Hhe Vaim Hhat (H— ﬁ)n a,(()pmaches

o becemes Lfn‘%w (et n->09)

§(q>:el 1S CCLU@\ Hhe waMraJ @xpom@nﬁa.l .ﬁwd"’wn
- We Hdreak ke any other %’XPOW@MHM.

. ﬂﬂ:é
g e’ = 0136
1 | &' 20368
O \‘
\ " e Z~ 1) .
g ¢ =7 2%

AN

we €% hudon
on caleuwiakor



Modifying  Exponentials
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e Bponenhial Equakion
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9. The number of bacteria in a population, given by the formula N (t) = Noe®'#, has an initial population
of 240000. How many bacteria will be present after 5 hours?
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10. The demand D for a specific product in items per month is given by D(x) = 880 157 where z is
the price in dollars of the product.
(a) What will be the monthly demand when the price is $107?
(b) What will be the monthly demand when the price is $187?
(c) What will happen to the demand as the price increases without bound?
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